Name

Pre-AP Chapter 6 Review

Classify the polygon by the number of sides. State whether the polygon is convex
or concave,

7. Find the sum of the interior angles of a convex heptagon.

8. The sum of the measures of the interior angles of a convex polygon is 1080°.
Classify the polygon by the number of sides.

9. Find the measure of an interior angle of a regular pentagon.
10. Find the sum of the exterior angles of a convex nonagon.
11, Find the measure of an exterior angle of a regular dodecagon.

Find the value of x. y (137

(b —2p°

ABCD is a parallelogram.
15. If mz£C=114°, then m£D =7

16. If mZA4=(3x+24)° and mZC =(5x—40)°, then x=7?

17. If AD=4x+3 and BC=7Tx-15, then BC =7
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Pre-AP Chapter 6 Review

The diagonals of rhombus EFGH intersect at 7.
18. If md EHG =108°, then mLFHG =17 18.
19.
19. If FG=x+11and GH =3x+15, then x=7?
20.
21,
20. If EG=6x-8 and IG=2x+4, then £f=?
22,
The diagonals of rectangle JKLAM intersect at V. J K 23.
21, If m£KLJ =51°, then mZLJLM =7 "~ 24.
N 25.
22, If MN =23, then JL="7
i L 26
23, If JK =20 and KM =25, then JM =7 7
28.
The diagonals of square PORS intersect at O. F“__ 8 -
24. If m£POQ=(27x--9)°, then x =1 | '
& 30.
25. If OQ =5x-16 and OS =2x+56, then x=7? S R 31
32.
26. If PR=14, then QR =7
XY is the midsegment of trapezoid TUVW. 'T‘ U
27. f mZU =(x—5)° and mZV =(2x+14)°, then x=7 \ /
XY 7Y
28, If TU =66 and WV =30, then XY =7 W '

29. If XY =59 and WV =37, then TU =7

ABCD is a kite.
30. If mZA=41° and mZC =67°, then msLB=17

31. f mZC =73° and m£D =132°, then m£LA="?

32, If AB=3x—-13, BC =2x-9, and CD = x+10, then x="? D
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Pre-AP Chapter 6 Review

Classify the polygon by the number of sides. State whether the polygon is convex
or concave.

7. Find the sum of the interior angles of a convex heptagon.
(1-2)1%0 =
8. The sum of the measures of the interior angles of a convex polygon is 1080°.
Classify the polygon by the number of sides.

(N-2)1%0) = LOBO. ~ N=F
9. Find the measure of an interior angle of a regular pentagon.
(5-2.)150 /
10. Find the sum of the exterlor angles of a convex nonagon.
260"
11. Find the measure of an exterior angle of a regular dodecagon.
300z 12m

Find the valil_e of x. (x— 138 |

14.

(-2 )50 Y= 120 3% t210=360 .
— 15 i Bx — 27
549 + ¥ =120 %= 120 (—ikwo 200
=21 = 50
X X= 9 21y -18€ 200
= 218

ABCD is a parallelogram. Zly B 51
15, If msC =114°, then mLD =7 B Lg

|80 ~livt
16. If m£d4=(3x+24)° and m£ C = (5x-40)°, then x =1

324 = ‘:/‘;2“40

= A%

17, 1 AD=4x+3jndBC:7x——15, then BC =9 ((J)"l‘f’

dy+2 =2 IS Nz (p e =T 9 -1
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Pre-AP Chapter 6 Review
The diagonals of rhombus EFGH intersect at I. o
18. If mZEHG =108°, then mZFHG =7 13, 5["’
9. — A
19. If FG=x+11and GH =3x+15, then x=? %—*
Kz B4 (S =) 20, etO
L 2. A9
20. If EG=6x—8 and IG =2x+-4, then El =7 e —
2 Cxt) = w3 Woz 2% 2n 4o
A%+ = [y~ X = =
The diagonals of rectangle JKLM intersect a? N. J . K 23. _M
21. If mZKLJ =51°, then mZJLM =2 - 24, B4
Go-Sh Py
22. If MN =23, then JL =2 - - 2. 4
2 (33 M Lo TR
= =, =9
23. If JK 220 and KM =25, ilr_len JM =1 27 5r“
20 %4 yM%E 25 ——
o 28, 48
The diagonals of square PORS intersect at O. o \
24. If m/POQ =(27x+9)°, then x=? ._ 0. Y1
2T+ =90 %) 30. [ 2f€
2= %I AV Y
25. If 00 =5x—16 and OF =2x+56, then x=? 8 R _AD
Sx-1o = 2x+56 2_\9
B hﬁ 12. B
26. If PR =14, then OR=7 72~
2t a2 X =94
X e W
a2xraab e W2
XY is the midsegment of trapezoid TUVW. T. U
. {
27, If m4U=(x—~5)° and mLVm(2x+14)'°, then x=7? \ ' ;
XS+ 2% et = 1§00 x\ 7Y
. 28, If TU =66 and WV =30, then XY =? & ¥

Ky = bl
29. If XY =59 and WV%37, then TU =7 =119
o 2 - = Tu z %l
ABCD is a kite, :
30, If mLA=41° and m£LC =67°, then mZB =19

200 - (M 4+ = 752
31. I msC=73° and msD =132°, then mLA =7

2ey— 1~ 20132) =
32. If AB=3x-13, BC=2x-9, and CD = x+10, then x =7
2y A = 10
K =\ A




